1|

LRk28%

RIFRIERR

45 58 | 6H 78 8 H 9H 108 118 128 15 28 3A i =
1547 e = T .—b_fﬁ?%ﬁ
5H 5/6~ 19 4R 2 18 EELETH
285 | TEnKRE . e 7/10—5_—30 27\qﬁm_l%m — 12/1~12/28 gpS~
D=t 108 SENTRE~ /TSP V. 16 > 2 KER B EHRAERBOI-5
A—ES 5/1%:5/19 = = S = = 5 %— e 3/13~3/14 2BE2EFE1E
& ZHIE] — RBBRERER  0~7/27 800 TBRAREHA
i 6/6~6/17 | P 12/2~12/20
B3R RE armsErages| 4P 5R 6A 7R 8A 9R 108 118 128 1A 2R 3R s =
] B 154F | 28R 151F| 28 4R | 1 BIF| 284F | 154F | 28 F [ 1547 | 28R | 1547 | 28 4R | 1 BIF| 284F | 1 BIF| 2847 | 1 B[ 2B4F | 1 B4R | 251F| 1 B4R | 28 1F| 1547 | 254F
[FWL\CA 0. 01g./m3NLLF 0.0015k% | 0.0015K% 000135k 00013k | 0.0015k5% | 0.0015k % 00015k 0.0015k% 0.0015k:% | 0.0015k:7% | 0.0015%3% | 0.001 5k EG@,EE"E
WESEEY 10ppmEL T 11 | 21 2.7 08 ] 20 ] 24 1.1 1.1 orx@| 08 | 14 | 23 FE6[E1H5E
EEI %7 50ppm T 21 | 30 23 25 | 31 | 47 30 27 30 | 37 | 17 | 27 £ 6[aH5E
B kE 10ppmELT 04 ] 16 0.5 03] 21 ] 0.6 0.3 0.7 13 ] 17 ] 20 23 FE6[B1H%E
AL X UFE 0.1ng-TEQm*NLLF 0.00140.000013 0.000019 [ 0.000023 FE2[0]A|FE
K ER 0. 05mg.”m°NELTF 0.006 | 0.00ask3#% 0.004 0.004 | 0.0045# | 0.0045k % 0.0045k 0.0045% % 0.0045 5% | 0.0045K % | 0.0045K3# | 0.0045K 5% EG@}E‘]E
—BIbR %R 100ppmELTF 2 3 2 2 4 2 4 3 5 2 4 3 F6EAIE
Fony 10mg/ m°NELTF 00045 | 0.0045K i 0. 0045i# 0.0045 % | 0.0042Ki% | 0.0045k 37 0,004 00045k 0.0045K | 0.0043k % | 0.0045K # | 0.0045 % EG@,EUE
AR [ARSH L 1mg/m3NELF 0,004 | 0.0045% % 0.0045% % 0.0045% % | 000453 | 0.0045% % 0.0045k % 0.0045k 0.00453# | 0.0045%% | 0.0045k% % | 0.0045%3% E6[8]H|FE
i — 0.0045K 5 | 0.0045K 0. 004K 0.004537 | 0004537 | 0.00453% 00045 0.0043 0.004583 | 0.0045k 3 | 0.00453 | 0.0045% 3 6518 7E
-8 KX -HKORIE
. HAE(E 48 58 68 78 8H 9R 10A 118 128 18 2R 3A fi& %
I =]
RIS A S Z86 |[60dB (A) LT 565 578
FRIGEEMN S F-HISHE. . 51 53% -/
BE  |FemhoFik116|000BAHUT 53§ 53% -
%1 1B RI6RE 505 (A LT 185 & 4957 FoRAE
p— FHISHA LT %8 |65dB LI T 36/ 37m
F&BBEA LT AISE |60dB(A) LI 36/ 37E
BERER 12 F 10K 10K 10K 10K % FARHE
B K ;gﬁﬁgg;ﬁ” KEHELT KEHELT F 208 E
HIXROHE 45 58 68 7H 8H 9H 108 118 128 18 2H 35 i %
IH _H "
N N @7l @7l OfF2[EAIE
ZRRIELNES @K @K OAIE ST
EET Y BRI 8 (1)) (1)) - =ET IR H/DN R
BIEKE I8 (Y= oL LLDOKRAE
FAAXIURE (33 (33 OF:IiEbui i
7K i ( D) oY
BRI T D HE N
'I‘E' g # TRETRENE X I MR IE 47 5H 6 H 7H 8H 9H 108 118 128 18 28 3R i E
BEEIIK 8,000Bq. kgl R 13 16 16 17 30 18 11 14 13 11 B THEH 25 1T
e KR (3%1: 4,000Bq.kgbATF) 109 143 115 102 132 92 98 113 103 106 89 68 & B 1EAlE
HAX 1Bg/m°LLF ENE T T THH B THH B B B T B T #EH1EAE
B K 1Bg OUTF THaEH R e R R R R R R R R AR H £ H1BAIE
::EEFHEII%EE‘] %-ﬁiﬁ 1mSv.” EfE Tm |5cm| Tm [5em| Tm |5em]| 1Tm |B5em| Tm |[S5em| Tm [5em| Tm |5em| Tm [5em| Tm |B5em| Tm [5em| Tm [5em| 1Tm |5em
SRS (B (usvh) ER E 0.07 ] 0.07] 0.06 | 0.07(007|007] 007 |007]0.06]|0.07]|0.07|006|007]0.06]|0.07|0.07|008|008]0.08|0.07]|0.08[008|0.08]0.07
E2]a] 0.07 ] 0.07] 0.06 | 0.06 | 0.07 | 0.07 ] 0.07 | 0.07 | 0.07 ] 0.06 | 0.07 | 0.06 | 0.07 | 0.07 | 0.07 | 0.07 | 0.07 | 0.08 | 0.07 | 0.08 | 0.07 | 0.08 | 0.07 | 0.08
BUHbIESRES  (FH) (gsvoh) ER E 0.06 | 0.07] 0.070.07 (006 | 007] 007 | 007]0.06|0.07]| 0.06|006| 006]|0.07]|0.06[0.06|007|008]0.07]|0.08]|0.07007]|0.07]0.07
E2]a] 0.06 | 0.06 | 0.06 | 0.07 | 0.07 | 0.06 | 0.07 | 0.07 | 0.06 | 0.06 | 0.06 | 0.06 | 0.07 | 0.07 | 0.07 | 0.06 | 0.07 | 0.08 | 0.07 | 0.08 | 0.07 | 0.07 | 0.07 | 0.08
B E SR (FF) (usvsh) £1 E 0.07]0.08] 0.07] 0.07(007|007] 007 |007]0.07]|0.07]0.07|007]|007]0.07]|0.07]0.06|008|007]0.08]|0.08[0.08[008]|0.08]0.08 & A 2E81E
E2][a] 0.08 ] 0.07] 0.07] 0.07 | 008| 0.07] 007 | 0.07] 0.07] 0.07] 0.07 | 0.07| 0.07] 0.07]| 0.07| 0.08 | 007| 0.08] 0.08] 0.08|0.08|0.08]| 0.07]0.08
BHnIE R (db) (usvoh) F1 @ 0.08 1 0.06| 0.06| 0.08( 005|007] 007 |005]0.05]|0.06|0.05(|006|005]0.06|0.07|0.05|008|0.06]0.06]|0.09|0.08[0.06]0.06]|0.08
E2[a] 0.08] 0.06| 0.05]| 0.07| 007|005] 0.06 | 0.05] 0.07] 0.05]| 0.07 | 0.06| 0.07] 0.06| 0.04| 0.04 | 0.06 | 0.07] 0.06| 0.08 | 0.06 | 0.07 | 0.06 | 0.08
KE N REFE 1S (£ Svsh) %10 0.08 ] 0.07]0.07]|0.08(006|007] 007 ]|007]0.07]|0.07]|0.07]|007]|007]0.08]|0.08[0.07|007]|008]0.08]|0.08[0.08[0.09]|0.08]0.08
EVE| 0.08 ] 0.07] 0.07] 0.07 | 0.08 | 0.07] 0.06 | 0.05| 0.07| 0.07 | 0.08 [ 0.07 | 0.07 | 0.06 | 0.07 | 0.08 [ 0.08 | 0.08 | 0.08 | 0.09 | 0.08 | 0.08 | 0.08 | 0.08
X1 BEREICET AEE B1950RHECET SRE M BT EENEX I E =R Ed BB REBEENDZT ANEL BRE) e DEAAMEIBCES




